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Conic- Circle Ellipse Parabola Hyperbola

1. DPP
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Lct V be the vertex and L be the latusrectum of the parabola
x? =2y + 4x — 4. Then the equation of the parabola whose
vertex is at V, latusrectum is L/2 and axis is perpendicular to
the axis of the given parabola.

®b) y2=x-4

@ y=4-x

(@) y*=x-2
©, ¥ =6-x

2. DPP

The latus rectum of a parabola wh-ose directrix is
x+y—2=0and focusis (3, 4)is*:

@ -3/2 ®) 3.2
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The locus of the poles of the focal chords of a parabola is

the :
(a) axis (b) directrix

(c) -tangent at the vertex (d) none of these

|

“The equation of parabola, whose vertex is (1, —2) and
focus (1, -1)1s:

@ x*=4@+2)
©, (x+172=4(@y-2)

(b) (x-1y=4(y+2)
(d) x+172=4(y+2)

|

#The equation of the parabola with the axis on the y-axis and
passing through origin and point (6, -3) is :

by x2=—12y

) y=—12x+6

(a) xZ=12y

(©) y3=12x+6
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Theequation of the line parallel to x-axis and passes through
the vertex of the parabola 2x? + Sy—3x+4=01s:

W

‘ s
@ x= ®) y=7

(d) x-3y=5

N | —

© x=-

The equation of the latus rectum of the parabola x2 +4x + 2y
=0is

(a 2y+3=0 (b) 3y=2

(© 2y=3 (d) 3y+2=0

Eccentricity of the parabola x2 — 4x— 4y +4 =0 is equal to
(@ e=0 (b) e=1
(c) e>4 d), e=4

The line y=mx + 1 is a tangent to the parabola y% =4x, if :
(a) m=1 (b) m=2
(c) m=4 : (d m=3
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| The directrix of the parabola x2 —4x —8y+ 12=01s:
(@ y=0 (b) x=1
gyl (d x=-1
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Two tangents are drawn from the point (— 2, —1) to the
parabola y2 = 4x. If o, is the angle between these tangents,
then tan o is cqual to

@ 3 b 13
e} 2. d 12
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The equation of the parabola whose vertex is at (0, 1) and
the focus is at (0, 0) is

(@ y>+4x-4=0
(b) x>+4y-4=0
(¢) y*+dx+4y—4=0
(d) None of these
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The slope of tangents drawn from a point (4, 10) to the
parabola y% = 9x are :

3
= b
(a) '3 (b)

slo

N
b=

©

ll (d) none of these
43
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. The focus of the parabola y? — 4y — 8x+4 =0 is:
@ @D (b) (1.2
© @1 @ 22

15

Ifx=my+ cis anormal to the parabola x* = 4ay, then value of
cis: ;

(@) - 2am-—am’ (b) 2am-—am’

B8 = e
© m 3 (d) e
16.

1 The vertex of the parabola x2 + 8x + 12y + 4 =0 is:

@ 41 (b) -1
(© 4-1 @ &1
. 5 uil
The solution of T T represents a parabola when
@ a=1,b=2 (b) a=0,b=0
(€ a=0,bz0 (d) a=2,b=1
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At what point on the parabola y= = 4x the normal makes
equal angles with the axes?

@ @4
© 4-49

(b 6.6
@ (1,-2)
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If (2, 0) is the vertex and y-axis is the directrix of a parabola,
then its focus is:
(@ 2,0
@ 40

(®) 2.0
@ 49

20
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If m,; and m, are the slopes of the tangent to the parabola

2 2
i +—y—-= 1, which passes through the point (6, 2), then

25-16

the value of (m, +m,) is

14 =
(@) 7 ® 3

11 24
- @ 7
21.

"é;mlnon tangents to the parabola y = xandy=—(x— 232
are
(hor=41cl)
&) y—4 -1

2 »v=0
@ y=-30x-50

2 a

|
'
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fhree normals to the parabola y2 = x can be drawn through
apoint (c, 0), if

._é_ (2) 0<c<l
1 sl
N St =3
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Ifx cos o+ ysin .= P is a tangent to the ellipse
2 2
X

=1 then .
- b
(@) acos o+ bsin = P?

(b) asin a. + b cos o. = P2
(c) a2 cos? o + b? sin? o = P2
(d) a% sin? o+ b2 cos? = P2 .

24

The cquation of tangents to the ellipse 9x2 + 16y2 = 144
which pass through the point (2, 3)is

(@ y=3 (b)x+y=2

(©) x—y=3 (dy=3:x+ty=5

25
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a
Iftan 0 tan 0, =— Fon then the chord joining two point 6,

2 2
; X £
and 0, on the ellipse —- + ;2 = 1 will subtend a right angle
a

at

(a) Focus

(b) Centre

(c) End of the major axes
(d) End of minor axes

26. CET

£ 2 2
X .
The line x = at? meets the ellipse i % = 1 in the real
a

points if -
(a) [t[<2 ®|t|<1
©1t|>1 (d) None of these
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The equation x2 + 4y2 +2x + 16y + 13 =0 represents a ellipse

(a) whose eccentricity is 5

(b) whose focus is (& J3.,0)

(c) whose di e R |

) whose directrix is x=+—= —
V3

(dY None of thege

28. CET

X2 P
The line /x + my +n = 0 cut the ellipse —-+ g—z— =1lin
a

points whose eccentric angle differ by 7/2. Then the value
of a2 + b?m? is-

(a) 2n? (b)2n

(c) 2m? (d)2m
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) The equation of the ellipse which passes through origin
and hasits foci at the points (1, 0) and (3, 0) is-
() 3x2 +4y? =x ®3x2+y2=12x
(c)x2+4y?=12x (d) 3x2 +4y2=12x

0

|
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The distance of a point on the ellipse ey + YZ

=1 fromthe

centre is 2. Then eccentric angle of the point is

(a)i% OET:
n 3w i
s @=5

1

| \
)
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Find the equation of the ellipse whose eccentricity is 1/2,
the focus is (-1, 1) and the directrix isx —y+ 3 =0.

(a) 7x2+ Ty?+ 10x— 10y + 2xy+7=0

(b) 5x%+ 7y*+ 10x — 12y+2xy+7=0

(c) 7x2+ 7y% 10x + 10y + 2xy+ 7=0

(d) x2+ 592+ 10x + 10y + 2xy+ 7 =0

Problem 1

If the tangent at (1, 7) to the curve x> = y — 6 touches the‘
circle x2 + y2 + 16x + 12y + ¢ = 0, then the value of ¢ is’
(a) 95 (b) 195 (c) 185 (d) 85 (2018)

Problem 2

Tangent and normal are drawn at P(16, 16) on the parabola;
y* = 16x, which intersect the axis of the parabola at 4 and
B, respectively. If C is the centre of the circle through the
points £, 4 and B and ZCPB = 0, then a value of tan0 is

4 1
(@) 3 (b) 2 (c) 2 (d) 3 (2018)

Problem 3

In a triangle 4ABC, coordinates of 4 are (1, 2) and the
equations of the medians through B and C are respectively,
x +y =35 and x = 4. Then area of AdBC (in sq. units) is
(a) 12 (b) 9 (c) 4 @ 5

(Online 2018)

Problem 4

i sses through the points (2, 3) and (4, 5). If its
cAenCtlrredfiers’aon the line, y = 4x + 3 = 0, then its radius §

equal to
@ 1 (®) 2 © 5 @ 2
A (Online 2018)1

Problem 5



'Two parabolas with a common vertex and with axes .along
x-axis and y-axis, respectively, intersect each other in the
first quadrant. If the length of the latus rectum of each
parabola is 3, then the equation of the common tangent to
the two parabolas is
@ 4x+y)+3=0
}C) xty)+t4=0

(b) 82x +y) +3 =10
dx+2y+3=0
(Online 2018)

Problem 6

Tangents drawn from the point (-8, 0) to the parabola

»? = 8x touch the parabola at P and Q. If F is the focus

of the parabola, then the area of the triangle PFQ (in sq.

units) is equal to

(2) 24 (b) 64 (c) 32 (dy 48
(Online 2018)

Problem 7

(e avasg

:x2+32 —2x — 1 =0 at the
. ord of length 4 from a circle C;
ntre is (3, —2). The radius of C, is

@ 2 ®) s (© 3 (@ 2
(Online 2018

The tangent to the circle C,

point (2, 1) cuts off a ch
whose ce;

Problem 8

%et P be a point on the parabola, x* = 4y. If the distanc.e
of P from the centre of the circle, X+ +6x+8=01s
minimum, then the equation of the tangent to the parabola
at P, is
@ x+4-2=0 b)) x+y+1=0 .

() x-y+3=0 (d x+2y=0
\ (Online 2018)

Problem 9

If the length of the latus rectum of an ellipse is 4 units and
the distance between a focus and its nearest vertex on the

3 . . -
major axis is 3 units, then its eccentricity 1s :
1 2 1 L
@ 3 ®) 3 © 3 @ 3

Problem 10

If a circle C, whose radius is 3, touches externally the
circle, x> + 32 + 2x — 4y — 4 = 0 at the point (2, 2), then
the length of the intercept cut by this circle C, on the
x-axis is equal to :

@ 23 ) 32 © 5 @) 25

Problem 11
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The locus of the point of intersection of the lines,

N2x=y+42k = 0 and 2k +ky-442 =0

(k is any non-zero real parameter), is

(3) a hyperbola with length of its transverse axis 8+/2.
(b) a hyperbola whose eccentricity is /3.

1
(c) an ellipse whose eccentricity is ﬁ

(d) an ellipse with length of its major axis 8+/2.
(Online 2018)
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Problem 12

|
N

Let k be an integer such that triangle with vertices
(k, =3k), (5, k) and (-k, 2) has area 28 sq. units. Then the
Orthocentre' of this triangle is at the point

@) (1,3) b (1 _Z) (1) 1
3 ® ) o123 o 2“5)

o (2017)

Problem 13

i igin
The eccentricity of an ellipse whose centre 1S at the orig

) . tion
is l If one of its directrices is x = — 4, then the equa

# 3
of the normal to it at (155) is

(a) 4x -2y =1 (b) 4x+2y=17
(€) x+2y=4 d2y-x=2 (2017)

Problem 14

\ |

If the common tangents to the parabola, x> = 4y apd the
circle, x* + y* = 4 intersect at the point P, then the distance
of P from the origin, is

@ 2(2+1)
©) 23+242)

(b) 3+242

(d) v2+1  (Online 2017)

Problem 15

“Consider an ellipse, whose centre is at the origin and its-

. 3
major axis is along the x-axis. If its eccentricity is 3 and

the distance between its foci is 6, then the area (in sq.
units) of the quadrilateral inscribed in the ellipse, with the
vertices as the vertices of the ellipse, is

(a) 8 (b) 32 (c) 80 (d) 40
(Online 2017)

Problem 16

Ifa Point P has co-ordinates (0, —2) and O is any point on
the circle, x* + 32 — 5x — y + 5 = 0, then the maximum value

of (PQ) 1\7_
25 6
@ +T (b) 8+573
47
©) 14+5W3 (@ %O‘/g (Online 2017)

Problem 17

\



A square, of eac%l _side 2, lies above the x-axis and has one
vlfrtex_avt the origin. If one of the sides passing through
the origin makes an angle 30° with the positive direction

of the x-axis, then the sum of the x-coordinates of the
vertices of the square is

Fo2 ® 231
(“: J;_] @ 23-2
/( a . a

Problem 18

aving centre at the origin,

. ise h
The eccentricity of an ellipse and passing through the

axes along the co-ordinate axes

ints (4, ~ 2,2) s
points (4, —1) and ( 2, i
V3 .3 d) =

@ —‘f— oy ©F 92

(Online 2017)¢

Problem 19

Two sides of a rhombus are along the 'lines, x-y+1 :20
and 7x —y — 5= 0. If its diagonals intersect at -1, — ),
then which one of the following is a vertex of this
rhombus?

@ (3,9
42
9 \373

Problem 20

(b) (3, -8)
7
@ (—-3-’ —5) - (2016)

If one of the diameters of the circle, given by the equation,
x}+ 32— dx+ 6y — 12 =0, is a chord of a circle S, whose
centre is at (-3, 2), then the radius of S is

@52 ® 53 @©5 (d 10
(2016)

Problem 21

. = (Zut0)
€ eccentricity of the h '
latus rectum jg equal to § ?erbda Wwhose length of the

is i nd the length of j .
aXIs 1S equal to half of the distance bitmgefnn:tsc?gil-lg?te
i, is

@ 2
3

® 5 o2
V3 YR (') BN Y

(2016)

Problem 22
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prough _2, 4) and toughes the y-axis 4
circle passes thr  she following €quations can repreger
o

. aircle?
of this circl (b) 3x+4y-3=0
B L @ 5x++4=0
© 4+~ 6 (Online 2016)

Problem 23

2

. Yy
at at a point on the ellipse 57+ . =1 meets

nd B, and O is the origin, then
units) of the triangle O4B is

(d) 93
(Online 2016)

If the tange

the coordinate axes at 4 a

the minimum area (in sq.

9
@33 ® 3 © 9

Problem 24

The minimum distance of a point on the curve
y =% -~ 4 from the origin is
(

a) g (b) \/? () E (d) g

(Online 2016)

Problem 25

Equaﬁon of .
(4, -1), wh the tangent to the circle, at the point

0s g A |
Straight lines :fe;lzellzggezi’omt of in‘tersectlon of the
e S T A
= . -
i (d) 4x+y-3=0

(Online 2016)



